[ NO CALCULATOR ] [ REASSESSMENT UNIT 6 J

UGBLT1 - | can convert to radians, degrees.
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U6LT2 - | can evaluate the exact values of trig functions including quadrantal angles.
Find the exact values.
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UelLT4 Law of Sines and Cosines (CALCULATORS ALLOWED]
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Solve for the missing parts of the triangle.
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46. a=8,c=10, B=48°
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47. Harry, Louis, and Niall are camping in their tents. If the distance between Harry and Louis is 153 feet,
the distance between Niall and Harry is 201 feet, and the distance between Louis and Niall is 175 feet, what is
the angle between Harry and Niall?
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UBLTS Area of a triangle LCALCULATORS ALLOWED ]
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Find the area of triangle ABC.
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50. Find the area, to the nearest square inch, of a parallelogram with sides of length 12 in and 15 in and
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2.Graph: y = 3cos2x +1
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U7LT2 CoS LeH+T
9.Graph: y = 3sec5+ 2

10.Graph: y = —csc(x +m) —3
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11.Graph: y = 4tan——3 12.Graph: y=cot(x—§)—3
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13. Tarzan swings back and forth on a grapevine going back and forth across a river bank, going alternatively over land
and water. Jane decides to model his motion and starts her stopwatch. Let t be the number of seconds the stopwatch
reads and let y be the number of meters Tarzan is from the riverbank. Assume y varies sinusoidally with t, and that y is
positive when Tarzan is over the water and negative when he is over the land.

Jane finds that when t=2, Tarzan is at one end of his swing, where y=23 and at t=5 he reaches the other end of the swing
with y=17.

Sketch the graph of the function and write an equation from the graph.
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Where is Tarzan at 16 seconds? 3003(‘”—/ X / 20
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State two tlmes that Tarzan is exactly crossing the river bank?
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14. The pedals of a bicycle are mounted on a bracket whose center is 29 cm above the ground. Each pedal
is 16.5 cm from the center of the bracket. Assume that the bicycle is pedaled at 12 revolutions per minute
with a starting position of the right pedal in a horizontal position at t=0 seconds. Ski:th the graph that

models the pedals.
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15. You are on an 8-seat Ferris wheel at an unknown height when the ride starts. It takes you 22.5 seconds to
reach the top of the wheel 26m above the ground. The loading platform is 2m high. The wheel makes
complete revolution in 60 seconds.

a) Create a diagram/sketch to show your location on the ride and the key features of the wheel.
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b) Find the sinusoidal equation that models you_z,{ldse( on)the Ferris wheel.
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c) How high above the ground will your seat be after 90 seconds?
16. The water level in a city water storage tank oscillates in a simple harmonic motion. The water level
varies depending on the time of day and the corresponding demand of the people. The low point of the water

in the tank, 22 feet, occurs at 8am and 8pm when demand is highest. The high points occur at 2am and 2pm
with a water level of 58 feet. Create a sinusoidal function equation that models the data and use it to predict
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